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BIEXE @R

zZF |l |EH & 2R FE
1 |%2fL |100mH g k3 AE 1R 3
2 |BE2L [EEBK nH & AE Kt 3
3 |4 [4x100mR BA-FN-ER-HRK (EE
4 |4 [100mH mH & AE Kt
5 |B4fL [FaALix =% ’/F Bl HKER 3
6 |SE56L [14E100m B| Yz e R 14
7 |SE6hL [EEBK —H X2 #F XEFN 24
8 |EE6LL |MHIERRIX s D Bl HKER 3
9 |E8fi [100mH B/ia BE AE EAX KE:3
BF |6z |fEB & 2R FE
1 |$1 |35E100m A EZER Big /NE KE:3
2 |BIGL [FaALR FH#E BT FiF T8 3
3 |%E26L (35 100m INE ERK e B KE:3
4 |FE2fL [24100m ZE E AE Kft 24F
5 |Z2fiL |1500m aHxF mE e EH KE:3
6 |ZE2fiL |4x100mR FE-FIH-TE-/\E |AE
7 |ZE3fL |400m no %= BmE R KE:3
8 |53 |800m T BEE [E& 3ITE KE:3
9 |E3ML [E=BK "R KE mE Kt 3
10 |3 |HEEBk faiZ EIRA Big /MR 3
11 |5E46L [15E100m Fi# %5h A= 1E# 14
12 |FabL |HEBk BA #t BmE Ei KE:3
13 |FAfL |ENEEK FR S FIF R 3
14 |5B460 |UFERRRL ZE Fix FiE 3
15 |ZE64L |1500m BLE RKABR e Rl KE:3
16 |66 |EEBk = HF AE R KE:3
17 |5E6hL |Faii% & &A e FE 3
18 |SE76L |35E100m MR nee #%a 34
19 |5E76L [22E100m Hil RE AE Kft 24F
20 |%E76I |400m RE EE FiF e KE:3
21 |58 |34E100m TE BmIK A= 1E# 3
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